

The PicoFinish is distinguished by top-quality materials and an ergonomic handle design. The comfortable precision screwdriver with multi-component handle, rapid rotating zone and easy-movement rotating cap is a professional tool for all precision work for confined screw applications. To make things even easier for the user working with tiny screws, we've developed a second, smaller handle. The colour-coded marking of the drive symbol on the rotating cap is also new. This makes it easier to recognise the individual screwdrivers when several are being used at once.



The easy-movement rotating cap protects the palm of the hand.

The blades are made of top-quality chrome-vanadium-molybdenum steel to ensure a particularly long tool life. They are subsequently through-hardened in a controlled process and chrome-plated. The precise ChromTop® tip ensures a secure hold in the screw head.



The Wiha PicoFinish features a durable chrome-vanadium-molybdenum blade.

- Wiha PicoFinish:
- Ergonomic handle design with soft zone for comfortable work
- Easy-movement rotating cap for rapid hand action
- Colour-coded marking of the drive symbol for easy identification
- Through-hardened, chromeplated blade made of chromevanadium-molybdenum steel for a long tool life
- Wiha ChromTop® tip guarantees a secure hold in the screw head
- Ideal for all fine, filigree applications in electronics and precision-mechanics applications, as well as for DIY and model-building

For Slotted Screws.



260P PicoFinish Slotted Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha $\operatorname{ChromTop}^{\text{\it \$}}$ finish on tip for a perfect fit every time.

Handle: Wiha PicoFinish handle for rapid rotation.

Application: Ideal for high-precision work with electro-technical and precision

components.

Order-No.	1		\ominus ;	•1	===	─ ÷		£
00475 0	8.0	40	0.16	2.0	134	9	10	4.85
00476 7	1.0	40	0.18	2.0	134	9	10	4.35
00477 4	1.2	40	0.2	2.0	134	9	10	3.85
00478 1	1.5	40	0.25	2.0	134	9	10	3.45
00479 8	1.5	60	0.25	2.0	154	9	10	3.50
00480 4	1.8	40	0.3	2.0	134	9	10	3.45
00481 1	1.8	60	0.3	2.0	154	9	10	3.50
00482 8	2.0	40	0.4	2.0	140	18	10	2.85
00484 2	2.0	60	0.4	2.0	160	18	10	3.05
00485 9	2.0	100	0.4	2.0	200	18	10	3.25
00486 6	2.5	50	0.4	2.5	150	18	10	2.75
00487 3	2.5	75	0.4	2.5	175	18	10	2.85
00488 0	2.5	100	0.4	2.5	200	18	10	3.05
00490 3	3.0	50	0.5	3.0	150	18	10	2.60
00492 7	3.0	100	0.5	3.0	200	18	10	3.15
00493 4	3.0	150	0.5	3.0	250	18	10	3.25
00495 8	3.5	60	0.6	3.5	160	18	10	3.00
00497 2	4.0	60	0.8	4.0	160	18	10	3.25
00498 9	4.0	100	0.8	4.0	200	18	10	3.45
00499 6	4.0	150	0.8	4.0	250	18	10	3.55

For Phillips and Pozidriv Screws.



261P PicoFinish Phillips Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha ChromTop® finish on tip for a perfect fit every time.

Handle: Wiha PicoFinish handle for rapid rotation.

Application: Ideal for high-precision work with electro-technical and precision

components.

Order-No.	⊕		•:		— <u></u>		£
00513 9	PH000	40	2.0	134	9	10	5.40
00512 2	PH00	40	2.0	134	9	10	3.90
00514 6	PH00	60	2.0	134	9	10	4.20
00511 5	PH0	50	3.0	150	18	10	3.00
00515 3	PH0	75	3.0	175	18	10	3.40
00516 0	PH1	60	4.0	160	18	10	3.55
00517 7	PH1	80	4.0	180	18	10	3.75
00518 4	PH1	150	4.0	250	18	10	4.25



262P PicoFinish Pozidriv Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha $\mathsf{ChromTop}^{\$}$ finish on tip for a perfect fit every time.

Handle: Wiha PicoFinish handle for rapid rotation.

Application: Ideal for high-precision work with electro-technical and precision

components.

Order-No.	(1)	 ■	•		—		£
04461 9	PZ0	50	3.0	150	18	10	3.30
04462 6	PZ1	60	4.0	160	18	10	3.90

Wiha PicoFinish.

The Comfortable Precision Screwdriver.

For TORX® Screws.



267P PicoFinish TORX® Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha ChromTop® finish on tip for a perfect fit every time

Handle: Wiha PicoFinish handle for rapid rotation.

Application: Ideal for high-precision work with electro-technical and precision

components.

Order-No.		 →	•		— <u></u>		£
25673 9	T1	40	2.5	134	9	10	6.30
25674 6	T2	40	2.5	134	9	10	6.30
20122 7	T3	40	2.5	134	9	10	6.30
20123 4	T4	40	2.5	134	9	10	6.30
00566 5	T5	40	2.5	134	9	10	5.70
00567 2	T6	40	2.5	140	18	10	4.25
00568 9	T7	40	2.5	140	18	10	4.25
00569 6	T8	40	2.5	140	18	10	4.25
00570 2	T9	50	3.0	150	18	10	4.40
00571 9	T10	50	3.0	150	18	10	4.40
00572 6	T15	60	3.5	160	18	10	4.60
00573 3	T20	60	4.0	160	18	10	4.60

For TORX PLUS® Screws.



267PIP PicoFinish TORX PLUS® Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha ChromTop® finish on tip for a perfect fit every time.

Handle: Wiha PicoFinish handle for rapid rotation.

Application: Ideal for high-precision work with electro-technical and precision

components.

Order-No.		=	•	==	— <u></u>		£
29100 6	4IP	40	2.5	134	9	10	7.80
29101 3	5IP	40	2.5	134	9	10	7.80
29102 0	6IP	40	2.5	140	18	10	5.40
29103 7	7IP	40	2.5	140	18	10	5.40
29104 4	8IP	40	2.5	140	18	10	5.40
29105 1	9IP	50	3.0	150	18	10	5.45
29106 8	10IP	50	3.0	150	18	10	5.45
29107 5	15IP	60	3.5	160	18	10	5.70
29108 2	20IP	60	4.0	160	18	10	5.70







267PR PicoFinish TORX® MagicSpring Screwdriver.

Handle with Rotating Cap and Rapid-turning Zone.

Retaining Spring Holds TORX® Screws in Place.

Blade: High quality chrome-vanadium-molybdenum steel, through hardened,

chrome-plated.

Wiha ChromTop® finish on tip for a perfect fit every time.

Handle: Wiha PicoFinish handle for rapid rotation.

Application: For setting and tightening TORX® screws in areas that are difficult to

access.

Order-No.			•		—		£
27729 1	T6	40	2.5	140	18	10	5.55
27730 7	T7	40	2.5	140	18	10	5.55
27731 4	T8	40	2.5	140	18	10	5.55
27732 1	T9	50	3.0	150	18	10	5.70
27733 8	T10	50	3.0	150	18	10	5.70
27734 5	T15	60	3.5	160	18	10	5.95

Wiha Info

TORX® MagicSpring.

Simply ingenious - the TORX® MagicSpring screwdriver from Wiha. Because of the "MagicSpring" retaining spring made of stainless steel, TORX® screws are held securely in place. An innovation, which will convince each user.



X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for wiha manufacturer:

Other Similar products are found below:

56818	00573	01030	75802	21248	26307	27302	27835	28050	28084	28390	28501	28507	28581	26113	26539	26626	26629	26804
28522	28882	32573	32705	32712	32752	32954	34700	36268	36791	38043	43618	44506	54095	31705	31890	32090	32093	32714
32793	36453	37225	39104	41106	44503	45811	46796	09393	66991	74586	74732							